DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

DATA SHEET

Type TBUOO1

1000111834 | Standard | EU | en | 201908 | 05
© Christian Birkert GmbH & Co. KG, Subject to alteration

burkert

FLUID CONTROL SYSTEMS

Fasteners for cylinder

¢ Numerous installation parts
e Simple installation

Product variants described in the data sheet may differ from the product presentation and description.

Visit product website »


https://products.burkert.com/?medium=datasheet&type=TBU001

DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

Type TBUOO1 ="

burkert

Table of contents

1. General technical data 3
2. Product versions 3
3. Ordering information 3
3.1. Blirkert eShop — Easy ordering and QUICK AelIVEIY.........cocuiiiiiiiiiiiicie ettt s s 3
L T2 =1 g (=T A o oo [0 To i 111 Y PR RRRNE 4
3.3. Ordering chart fastening elements for cylinder @ 32 to 125 mm for TZUOD2 .........cccoiiiiriiirieenie et 4
Overview fastener elements for cylinder ISO 15552, @ 32 10 125 MM....uuiiiiiiiiiiiiiieee et 4
Head and floor flange fastener, aluminium fOr TZUOD2 ............uoiiiiiiiiee et eeee e e e st e e s e st e e s et e e s nee e e eseeeennseeean 4
Female hinge, aluminium fOr TZUQOD2 ..........ceuouiiiieieeriee ettt sa e st sse e e e e st e e ate e saee e st e aaeeeseesaneeseesnneenneeenreenns 5
Male hinge, aluminium for TZUODZ...........couiiieieeeieeeree et ee e e e e s e e s e e ennes .5
Counter hinge, Cetop - including rigid bearing, aluminium pressure cast for TZUOOD2 ..........cccoeeiriiiiiniiereniiee e eeee e 6
Foot fastener, steel plated fOr TZUDDZ ...........eii i ceiee et ee et e st e e st e e et e e e sae e e e s se e e sasseeessseeessaeeesaseeeennseeeeaseeeennsnennn 6
Counter hinge, ISO, aluminium for TZU0O02... 7
Flexible coupling, steel plated fOr TZUDDZ ..........ccciiieiiiiie ittt s e e sre e sn e sseesn e e srnesreesans 7
Bearing support, aluminium fOr TZUDDZ ........ccc.eiiiiiiieiieeiee ettt r e e e s ese e s st e st e et e e saeesneeanneeneesnnesreenans 8
Rod eye, steel plated fOr TZUDDZ..........ooiuiiiieeiee ettt ettt et e te e s ae e e st e s aeeesaeesabeaseeeaseeaaeeeaseesaeeeneaaaeeeneesaeesaseanane 8
Fork head, steel plated fOr TZUDDZ ..........ooo i eeee ettt ettt e e e e e e e sse e e e e seeeeaaseesaaseeeaasneeeeanneeeaasneeseasseesanneeesanseeaannneenn 9
DIN 439 1014 hex nuts, steel plated for TZUDDZ .........ooi it reee ettt et e s ae e s e e sasae e s saseee e sseeessnseeaeneeeas 9
Gasket replacement St fOr TZUDD2...........ueeiieeeieiiee e cree st e e st e s e st e e e e saee e e ssaeeesateeeassseeeasseesaseeeeasseeeeasseeesnseeesannnenan 10
3.4. Ordering chart fastening elements for cylinder @ 8 t0 25 mMm for TZG00T .......ccceeoriiiriereriesereese e 11
Overview fastener elements for cylinder ISO 6432, @ 8 10 25 MIM......iiiiiiiiiiiiiei ettt aee e 11
[RloToy i £= E51 (=Y g L= (o T 174 10 [0 L PSP PRV PRORPT
[ = LaTe L= £ 651 LT g Y=g (T 174 0 USSR
Counter hinge block for TZG001 ................
Fastening and piston arm nuts for TZG001
[T 1 g T=Y=To I o T 174 €10 [0 PSPPSR

Rod eye with spherical bearing for TZG001

Visit product website » 2|14


https://products.burkert.com/?medium=datasheet&type=TBU001

Type TBUOO1 .

burkert

1. General technical data

Note:
Further versions on request

Product properties
Materials Aluminium, aluminium die casting, steel, plated

2. Product versions

The fasteners listed below are listed within this data sheet:

Fastener elements for cylinder ISO 15552, @ 32 to 125 mm
e Head and floor flange fastener

¢ Female hinge

* Male hinge

e Counter hinge, Cetop

g * Foot fastener

3 e Counter hinge, ISO

o

N ¢ Flexible coupling

g ¢ Bearing support

E ¢ Rod eye

Q.

. * Fork head

= * DIN 439 1014 hex nut

>

= e Gasket replacement set

()

el

:’.’, Fastener elements for cylinder ISO 6432, @ 8 to 25 mm

.% e Foot fastener

= * Flange fastener

kel

% e Counter hinge

% * Fastening and piston arm nuts

= ¢ Fork head

[h4

“ ¢ Fork head with spherical bearing

3?3 * Rod eye

n

(=]

c

kel

2 3. Ordering information

a 3.1. Biirkert eShop - Easy ordering and quick delivery
<t

(22}

x

g Biirkert eShop - Easy ordering and fast delivery
o

o

-~ You want to find your desired Biirkert product or spare part quickly and order directly?
,‘2 Our online shop is available for you 24/7. Sign up and enjoy all the benefits.
[a]

Visit product website » 3|14


https://products.burkert.com/?medium=datasheet&type=TBU001
https://www.burkert.com/ds-shop

Type TBUOO1 =

burkert

3.2. Biirkert product filter

5 w L
¢ F ¥ f fo Biirkert product filter - Get quickly to the right product
emporaae

s Gt | Voliaas | Fregueny

— You want to select products comfortably based on your technical requirements?
= Use the Biirkert product filter and find suitable articles for your application quickly and
P g easily.

' ali—— 2 Try out our product filter
1 & —

3.3. Ordering chart fastening elements for cylinder @ 32 to 125 mm for TZU002
Overview fastener elements for cylinder ISO 15552, @ 32 to 125 mm

An overview of the fastener elements for cylinder ISO 15552, @ 32 to 125 mm can be found in chapter “2. Product versions” on
page 3.

Head and floor flange fastener, aluminium for TZU002

()]
)
N
8
~ Note:
; The product consists of 1 flange and 4 fastening screws.
Q
£
a Head fastening Floor fastener
@
=4
©
> D4
s —
®- ' -E [ S e
@) i Lo - o !
DBl e
L o [ S S S
— a4 ~ @)
3 [
3 vl
g B4 | H5 + stroke
[ B2
—
14
3 o B B1 B2 B3 B4 O D4 H5 + stroke T Article no.
@
» [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
a 32 64 80 50 10 32 7 130 16 780303 &
c
.g 40 72 90 55 10 36 9 145 20 780304 &
§ 50 90 110 65 12 45 9 155 25 780305 =
z 63 100 120 75 12 50 9 170 25 780306 &
< 80 126 153 95 16 63 12 190 30 780307 &
§ 100 150 1478 115 16 75 14 205 35 780308 ¥
g 125 180 220 140 20 90 16 245 45 780309 &
3
%)
'_
[a]

Visit product website » 4|14


https://products.burkert.com/?medium=datasheet&type=TBU001
https://country.burkert.com?url=ds-productfilter
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780303
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780304
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780305
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780306
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780307
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780308
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780309

burkert

Type TBUOO1

Female hinge, aluminium for TZU002

Note:

The product consists of 1 swivel flange, 1 axle bolt with 2 locknuts, 4 fastening screws, and 4 spring nuts.

F
B H3 + stroke
A
(%] A B (o] D E F G H3 + stroke R S T Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mMm] [mm] [mm]
32 45 45 30 26 22 32,5 10 142 11 10 7 780310 &
40 52 52 35 28 25 38 12 160 13 10 7 780311 &
@ 50 65 60 40 32 27 46.5 12 170 13 12 9 780312 &
8 63 75 70 45 40 32 56.5 16 190 17 12 9 780313 &
§ 80 95 90 45 50 36 72 16 210 17 16 11 780314 =
N 100 115 110 55 60 41 89 20 230 21 16 11 780315 &
5 | (CEBIS b8 |
g 125 140 130 60 70 50 110 25 275 26 20 14 780316 &
H
9
= Male hinge, aluminium for TZU002
>
. Note:
2 The product consists of Consisting of 1 swivel flange and 4 fastening screws.
9
R
£ e
3 o /i\ r”,(”"t:::::
8 7(::1: - ooy ! |
Ko} g Lo e e
0] —= oo |
i o O BT e
4 B
%] A
:g H3 + stroke
n
[a)
_5 (7} A B C D E F G H | L H3 + stroke Article no.
g [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
; 32 45 32.5 30 26 22 11 10 10 7 7 142 780317 &
w 40 52 38.0 35 28 25 13 12 10 7 7 160 780318 &
§ 50 65 46.5 40 32 27 13 12 12 9 7 170 780319 &
E 63 75 56.5 45 40 32 17 16 12 9 7 190 780320 &
§ 80 95 72.0 45 50 36 17 16 16 11 9 210 780321 &
(‘:) 100 115 89.0 55 60 41 21 20 16 11 9 230 780322 &
'5 125 140 110 60 70 50 26 25 20 14 9 275 780323 &
Visit product website » 5]14



https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780310
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780311
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780312
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780313
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780314
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780315
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780316
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780317
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780318
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780319
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780320
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780321
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780322
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780323

Type TBUOO1 .

burkert

Counter hinge, Cetop - including rigid bearing, aluminium pressure cast for TZU002

A
I
- | — |- m
|
|
\
i T
C N
F L E
H |
(%] A B (o] D E F G H | L M N Article no.
[mMm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
32 26 19 7 10 25 20 32 37 41 18 8 10 780324 &
o 40 28 26 9 12 32 32 45 54 52 25 10 12 780325 &
{i’,_ 50 32 26 9 12 32 32 45 54 52 25 10 12 780326 &
8 63 40 33 11 16 40 50 63 75 63 32 12 15 780327 &
C_'?l_ 80 50 33 11 16 40 50 63 75 63 32 12 15 780328 &
é 100 60 44 14 20 50 70 90 103 80 40 16 22 780329 &
5 125 70 44 14 25 50 70 90 103 80 40 16 22 780330 &
@
el
g
- Foot fastener, steel plated for TZU002
C
% Note:
? Product consists of 1 angle and 2 fastening screws. Two needed for each cylinder.
= A,
N
s . I T ‘,‘IQ)AB &
R Y B B
@ ;
E] TR ETY
i)
n UH AO
9 H2 + stroke
c
K} H1 + stroke
[
(0]
>
E (%] AB AH AO AT AU E HB P R TB TR UH H1 H2 Article no.
3 (H13) (JS14) (JS14) +0.2 (JS14)
2 [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
g 32 7 32 35 4 24 15.75 7 26 155 325 32 45 144 142 780331 &
§ 40 9 36 43 4 28 17 7 27 18 38 36 52 163 161 780332 &
'(2 50 9 45 a7 4 32 21.75 9 35 205 465 45 65 175 170 780333 &
a 63 9 50 47 6 32 2175 9 35 23 56.5 50 75 190 185 780334 &
80 12 63 61 6 41 27 11 46 23 72 63 95 215 210 780335 &
100 14 71 66 6 41 26.5 11 48 28 89 75 115 230 220 780336 &
125 16 90 70 7 45 35 13 80 30.5 110 90 140 270 250 780337 &

Visit product website » 6|14


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780324
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780325
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780326
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780327
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780328
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780329
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780330
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780331
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780332
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780333
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780334
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780335
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780336
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780337

Type TBUOO1 .

burkert

Counter hinge, ISO, aluminium for TZU002

Note:
Product consists of 1 swivel flange and 4 fastening screws.

©)
©)

T
=T

ald| |
@l ey L
"E ' H
e T
C -
D
(%] A B (h11) C D OE 9 E1 OF (H8h11) G H J K L Article no.
[mMm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mMm] [mm] [mm] [mm] [mm]
32 46 26 32.5 46 7 12 10 32 5 10 39 10 780338 &
40 53 28 38 52 7 12 12 36 5 12 43.5 10 780339 &
50 61 32 46.5 64 9 14 12 45 5 12 56.5 11 780340 &
63 71 40 56.5 74 9 14 16 50 5 16 64 11 780341 &
80 91 50 72 94 11 17 16 63 6.5 16 86 14 780342 =
100 111 60 89 113 11 17 20 73 6.5 20 1025 16 780343 &

Flexible coupling, steel plated for TZU002

E

SW5 SWi1 SW4

A=
1]
L
AN

B Sw2, " Sw3
D

For cylinder @ A B (o] D 9 E OF SWi1 SW2 SW3 Sw4 SW5 Article no.
[mm] [mm] [mMm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]

32 M10x1.25 20 23 70 31 21.5 12 30 30 19 17 780345 &
40 M12x1.25 23 23 67 31 21.5 12 30 30 19 19 780346 &
50 M16x1.5 40 34 112 45 33.5 19 41 41 30 30 780347 =
63 M16x1.5 40 34 112 45 33.5 19 41 41 30 30 780347 &
80 M20x1.5 39 42 122 56 33.5 19 41 41 30 30 780348 &
100 M20x1.5 39 42 122 56 33.5 19 41 41 30 30 780348 &

DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

Visit product website » 7114


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780338
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780339
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780340
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780341
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780342
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780343
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780345
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780346
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780347
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780347
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780348
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780348

Type TBUOO1 "

burkert

Bearing support, aluminium for TZU002

| [ 7‘, ,,,,, In

H [ ! i

; 1

| S N U

st

H3 + stroke

(%] @ D2 H3 + stroke H4 H6 H7 H8 R S1 Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
32 10 142 12 22 11 10 18 14 780359 &
40 12 160 15 25 14 10 21 16 780360 =
50 12 170 16 27 15 11 23 16 780361 &
63 16 190 21 32 20 11 27 21 780362 &
80 16 210 22 36 21 14 29 21 780363 &
100 20 230 25 41 24 16 34 25 780364 =

Rod eye, steel plated for TZU002

(%] OPH7) T (V) U1 Vv w W1 X z 9271 SwW Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]

32 10 15 10.5 14 28 57 20 43 M10x1.25 15 17 780366 =
40 12 17 12 16 32 66 22 50 M12x1.25 17.5 19 780367 &
50 16 22 15 21 42 85 28 64 M16x1.5 22 22 780368 &
63 16 22 15 21 42 85 28 64 M16x1.5 22 22 780368 =
80 20 26 18 25 50 102 33 77 M20x1.5 27.5 32 780369 =
100 20 26 18 25 50 102 33 77 M20x1.5 27.5 32 780369 &
125 30 36 25 37 70 145 51 110 M27 x 2 40 41 780370 &

DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

Visit product website » 8|14


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780359
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780360
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780361
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780362
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780363
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780364
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780366
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780367
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780368
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780368
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780369
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780369
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780370

Type TBUOO1 an

burkert

Fork head, steel plated for TZU002

Kolben-@ oP T U v w X V4 Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]

32 10 20 10 20 52 40 M10x1.25 780371 &
40 12 24 12 24 62 48 M12x1.25 780372 &
50, 63 16 32 16 32 83 64 M16x1.5 780373 &
80, 100 20 40 20 40 105 80 M20x 1.5 780374 &
125 30 54 30 55 148 100 M27 x 2 780375 &

DIN 439 1014 hex nuts, steel plated for TZU002

Piston-@ A (] Article no.
[mm] [mm] [mm]

32 M10x1.25 6 780376 &
40 M12x1.25 7 780377 &
50, 63 M16x1.5 8 780378 &
80, 100 M20x 1.5 9 780379 &
125 M27 x 2 10 780380 &

DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

Visit product website » 9|14


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780371
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780372
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780373
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780374
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780375
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780376
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780377
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780378
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780379
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780380

Type TBUOO1 .

burkert

Gasket replacement set for TZU002

No. Element
1 | Wiper-sealing element
[’F{?‘] 2 O-ring
' 3  Cushion seal
| | 4  Complete piston
Ijﬁ 5  Cushion seal
i 6 O-ring
i Piston-0 Article no.
H 1 [mm]
g | 32 773212 %
] | 40 773213 &
i 50 773214 =
< R 63 773215 '®
! 80 773216 &
' | 100 773217 &
i z 125 773218 '
' 4
i
mE 5
0% °

DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

Visit product website » 10]14


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773212
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773213
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773214
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773215
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773216
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773217
https://products.burkert.com/?medium=datasheet&type=TBU001&id=773218

Type TBUOO1 .

burkert

3.4. Ordering chart fastening elements for cylinder @ 8 to 25 mm for TZG001
Overview fastener elements for cylinder ISO 6432, @ 8 to 25 mm

An overview of the fastener elements for cylinder ISO 6432, @ 8 to 25 mm can be found in chapter “2. Product versions” on page
3.

Foot fastener for TZG001

A S
&
‘ o
) - s
! o0
LT] | LT] N 1

8 D )
©
<
N~
N
B Piston-@ A B C D G H J R S Article no.
£
= [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
T 8...10 12 4.5 25 35 11 16 16 10 3 780753 &
% 12...16 16 5.5 32 40 14 20 20 134 4 780754 =
z 20...25 22 6.6 40 54 17 25 25 18 5 780755 &
3
Q
[0
[=)]
S Flange fastener for TZG001
L
o
(0] —
(7]
] []
i) PR N R —
QL) |
o L
[h4
z,,' PR N R —
=}
§ -
n
o __]d__
c |
Ke] ||
[
(0]
>
> s
i
<
&3
- Piston-@ A B (o3 R R1 S Article no.
é [mm] [mm] [mm] [mm] [mm] [mm] [mm]
=4 8...10 12 45 30 15 5 3 780756 &
& 12...16 16 5.5 40 15 6 4 780757 &
o 20...25 22 6.6 50 20 8 5 780758 &

Visit product website » 11114


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780753
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780754
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780755
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780756
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780757
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780758

Type TBUOO1 =

burkert

Counter hinge block for TZG001

(%] B B1 (o] K K1 H L M N o R S Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]

8...10 4.5 4 125 - - 24 22 125 841 18 5 2.5 780759 &
12...16 5.5 6 20 - 5 25 35 20 12.1 25 7.5 3 780760 =
20...25 6.6 8 25 5 - 29 40 23 16.1 32 10 4 780761 &

Fastening and piston arm nuts for TZG001

Note:
The set consists of 1 fastening nut and one piston arm nut.

(L[]

C B
Type (%] A B (o] Type (%] A B Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] Set
Fastening 8...10 M12x1.25 19 6 Piston arm nuts 8...10 M4 7 780765 &
nuts 12...16 M16x15 22 5 12...16 M6 10 780766 &
20 M22x1.5 27 8 20 M8x1.25 13 780768 &
25 M22x1.5 27 8 25 M10x1.25 17 780769 &

DTS 1000111834 EN Version: D Status: RL (released | freigegeben | validé) printed: 27.08.2019

Visit product website » 12114


https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780759
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780760
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780761
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780765
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780766
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780768
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780769

Type TBUOO1 o
burkert
Fork head for TZG001
W
Iq#»
u ‘.—
e
A ‘ N
T
g P
Yrann
N\
)
Piston-@ P T V) \'} w X z Article no.
[mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
8...10 4 8 4 8 21 16 M4 780770 &
12...16 6 12 6 12 31 24 M6 780771 &
® 20 8 16 8 16 42 32 M8 780772 &
é 25 10 10 10 20 52 40 M10x1.25 780773 =
©
<
N~
N
kel
2
£
s
@
=]
©
>
c
[
Q
[0
[=)]
o)
R
[
o
(0]
(7]
(]
o2
S
=
x Piston-g P T U U1 w wi1 X 4 Article no.
ﬁ [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
©
& 8...10 5 10 6.00 8 36 10 27 M4 780774 &
a 12...16 6 11 6.75 9 40 12 30 M6 780775 =
.é 20 8 13 9.00 12 48 16 36 M8 780776 &
’g 25 10 15 10.5 14 57 20 43 M10 780777 &
Z
i
<
(9]
«®
S
o
=
(%)
'_
[a)
Visit product website » 13]14



https://products.burkert.com/?medium=datasheet&type=TBU001
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780770
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780771
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780772
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780773
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780774
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780775
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780776
https://products.burkert.com/?medium=datasheet&type=TBU001&id=780777

Burkert — Close to You

For up-to-date addresses
please visit us at
www.burkert.com

Canada
JSA

Argentina
Brazil
Uruguay

Norway

Poland
Austria Portugal
Belgium Spain
Czech Republic Sweden
Denmark Switzerland
Finland Turkey
France United Kingdom
Germany
Italy “»- Russia
Netherlands

China
Hong Kong
India
Japan
Korea
Malaysia
Philippines
Singapore
Taiwan

Emirates

: ¥ /’
South Africa
Australia

New Zealand

Credits, © and concept: Christian Biirkert GmbH & Co. KG | Photographs: Marc Eggimann Fotografie - 4051 Basel | Scanner GmbH - Werbeagentur Kiinzelsau -
74653 Kinzelsau




	1.	General technical data
	2.	Product versions
	3.	Ordering information
	3.1.	Bürkert eShop – Easy ordering and quick delivery
	3.2.	Bürkert product filter
	3.3.	Ordering chart fastening elements for cylinder Ø 32 to 125 mm for TZU002
	Overview fastener elements for cylinder ISO 15552, Ø 32 to 125 mm
	Head and floor flange fastener, aluminium for TZU002
	Female hinge, aluminium for TZU002
	Male hinge, aluminium for TZU002
	Counter hinge, Cetop - including rigid bearing, aluminium pressure cast for TZU002
	Foot fastener, steel plated for TZU002
	Counter hinge, ISO, aluminium for TZU002
	Flexible coupling, steel plated for TZU002
	Bearing support, aluminium for TZU002
	Rod eye, steel plated for TZU002
	Fork head, steel plated for TZU002
	DIN 439 1014 hex nuts, steel plated for TZU002
	Gasket replacement set for TZU002

	3.4.	Ordering chart fastening elements for cylinder Ø 8 to 25 mm for TZG001
	Overview fastener elements for cylinder ISO 6432, Ø 8 to 25 mm
	Foot fastener for TZG001
	Flange fastener for TZG001
	Counter hinge block for TZG001
	Fastening and piston arm nuts for TZG001
	Fork head for TZG001
	Rod eye with spherical bearing for TZG001



